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2 4 3 -5 33 -14 4 0.575757576

-4 19 -10 4 0.473684211

-3 9 -6 4 0.333333333

-2 3 -2 4 0.333333333

-1 1 2 4 3

0 3 6 4 3

1 9 10 4 2.111111111

2 19 14 4 1.736842105

3 33 18 4 1.545454545

4 51 22 1.431372549

5 73

Activity:


At Your Seat:
1) Use STAT PLOT to graph (x, f(x)).  Use [-5, 5, 1, 0, 80, 10] for your WINDOW.  For the values of a, b, and c, use 2, 4, and 3.
2) What do you notice about the GRAPH?

3) Use TRACE to get to the y-intercept.  What are the coordinates of the y-intercept?  Where is the y-intercept in the SPREADSHEET?
4) TRACE to get to the next point.  What are the coordinates of that point?

5) Keep using TRACE to view the coordinates of each point.  What patterns do you notice?
6) What column(s) in the SPREADSHEET might tell you that the numbers are increasing by a certain amount?  

7) Which column(s) in the SPREADSHEET does not seem to show any pattern at all?

8) Look at (x, f(x)) in the SPREADSHHET.  Develop a relationship that exists between the values in x and the values in f(x).
HINT:
what number * 2^2 + another number * 2 + different number = 19


what number * 3^2 + another number * 3 + different number = 33
9) Check to see if you are correct by going to Y =  and typing your expression like this:  what number * x^2 + another number * x + different number
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5 2 8 -5 123 -43 10 0.650406504

-4 80 -33 10 0.5875

-3 47 -23 10 0.510638298

-2 24 -13 10 0.458333333

-1 11 -3 10 0.727272727

0 8 7 10 1.875

1 15 17 10 2.133333333

2 32 27 10 1.84375

3 59 37 10 1.627118644

4 96 47 1.489583333

5 143


Activity:

At Your Computer:
10) Double-click on the SPREADSHEET, and change the values for a, b, and c to 4, 8, and 2.  What changes took place in the SPREADSHEET?

11) Use STAT PLOT to graph (x, f(x)).  Use [-5, 5, 1, 0, 150, 25] for your WINDOW.  
12) What do you notice about the GRAPH?
13) Use TRACE to get to the y-intercept.  What are the coordinates of the y-intercept?  Where is the y-intercept in the SPREADSHEET?

14) TRACE to get to the next point.  What are the coordinates of that point?

15) Keep using TRACE to view the coordinates of each point.  What patterns do you notice?

16) What column(s) in the SPREADSHEET might tell you that the numbers are increasing by a certain amount?  

17) Which column(s) in the SPREADSHEET does not seem to show any pattern at all?

18) Look at (x, f(x)) in the SPREADSHHET.  Develop a relationship that exists between the values in x and the values in f(x).

HINT:
what number * 1^2 + another number * 1 + different number = 15



what number * 2^2 + another number * 2 + different number = 32
19) Check to see if you are correct by going to Y =  and typing your expression like this:  what number * x^2 + another number * x + different number
20) Feel free at this point to change the values of a, b, and c to whatever you like.  Observe the results of any changes you make.
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		a		b		c		x		f(x)		1st finite differences		2nd finite differences		Finite ratios

		2		4		3		-5		33		-14		4		0.5757575758

								-4		19		-10		4		0.4736842105

								-3		9		-6		4		0.3333333333

								-2		3		-2		4		0.3333333333

								-1		1		2		4		3

								0		3		6		4		3

								1		9		10		4		2.1111111111

								2		19		14		4		1.7368421053

								3		33		18		4		1.5454545455

								4		51		22				1.431372549

								5		73
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		a		b		c		x		f(x)		1st finite differences		2nd finite differences		Finite ratios

		5		2		8		-5		123		-43		10		0.6504065041

								-4		80		-33		10		0.5875

								-3		47		-23		10		0.5106382979

								-2		24		-13		10		0.4583333333

								-1		11		-3		10		0.7272727273

								0		8		7		10		1.875

								1		15		17		10		2.1333333333

								2		32		27		10		1.84375

								3		59		37		10		1.6271186441

								4		96		47				1.4895833333

								5		143






